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100| = LVv=FmH 43,100 28,900 67. 1% 14, 200 32. 9%
201])1li#8h 17,000 6, 989 41. 1% 10, 011 58. 9%
202|FE /™ 31,293 14, 602 46. 1% 16, 691 53. 3%
203118 h 28, 063 18, 526 66. 0% 9, 537 34. 0%
206|1THETH 13, 464 1,52] 55. 9% 5,937 44. 1%
207|#E K 10, 1717 3,374 33. 2% 6, 803 66. 8%
208|RTiR T 8, 152 5, 889 67. 3% 2, 863 32. 1%
209 |BRRETH 10,476 3,875 37. 0% 6, 601 63. 0%
210|ZA™H 21,712 11,975 55. 2% 9,137 44. 8%
211|RETH 15,376 6, 933 45. 1% 8, 443 54. 9%
212| R#d LT 14,297 5, 965 41. 7% 8, 332 58. 3%
214/ FHEf™ 10, 224 6, 585 64. 4% 3, 639 35. 6%
2153k 1uTh 4,130 2,899 10. 2% 1, 231 29. 8%
216 P Eh 10, 223 4, 846 47. 4% 5,371 52. 6%
217|768 h 6, 7133 3, 994 59. 3% 2, 139 40. 7%
218|%RATH 10, 659 4,920 46. 2% 5, 139 53. 8%
219| EE™ 17,986 11, 398 63. 4% 6, 588 36. 6%
221|E0mh 5, 296 4,442 83. 9% 854 16. 1%
222/ aTh 19, 438 13, 184 67. 8% 6, 254 32. 2%
223|pRh 1,049 845 80. 6% 204 19. 4%
224 FE™ 1,936 800 41. 3% 1,136 58. 7%
225| AfdlTh 8, 905 4,079 45. 8% 4,826 54. 2%
22181 1,708 1,312 716. 8% 396 23. 2%
228| ERH 539 492 91. 3% 41 8. 1%
229|#0yeth 505 403 719. 8% 102 20. 2%
230 | #TEETH 2,239 1,817 81. 2% 422 18. 8%
231|#&)IIth 8, 062 3,972 49. 3% 4,090 50. 7%
232| AETH 14,092 1,487 53. 1% 6, 605 46. 9%
233|dLRTh 5, 416 3, 605 66. 6% 1,811 33. 4%
234|)\ETh 11, 735 6, 908 58. 9% 4,821 41. 1%
235 E X R 1,869 1, 540 82. 4% 329 17. 6%
237\ =48 11,4178 8, 217 1. 6% 3, 261 28. 4%
2383EH™ 5,195 3, 239 62. 3% 1,956 37. 7%
2393 Fh 9, 750 3, 597 36. 9% 6, 153 63. 1%
240|=Fh 9,298 6, 236 67. 1% 3, 062 32. 9%
241|867 & 8, 563 4,376 51. 1% 4,187 48. 9%
22| BEh 6, 623 2,023 30. 5% 4, 600 69. 5%
23| F)1lTh 5,189 2, 883 55. 6% 2, 306 44. 4%
245| 5 L HEFThH 3, 363 2, 334 69. 4% 1,029 30. 6%
246| B 5, 086 3,105 61. 0% 1,981 39. 0%
301 |{RZ<HT 4, 350 2, 686 61. 7% 1, 664 38. 3%
324| =55 H1 1,086 186 12. 4% 300 21. 6%
326|%E = LLUHT 5, 004 2,321 46. 5% 2,671 53. 5%
327 |t A HT 1,805 537 29. 8% 1,268 70. 2%
3417811 BT 1,996 161 38. 1% 1,235 61. 9%
342/ =, LLI T 2, 964 1,179 39. 8% 1, 785 60. 2%
343|/1N) 11 HT 6,113 4,153 67. 9% 1,960 32. 1%
346|)1| SHT 3, 179 962 25. 5% 2,817 14. 5%
341|ERHET 4, 383 1,792 40. 9% 2, 591 59. 1%
348 | 15 LI T 1,634 650 39. 8% 984 60. 2%
349| & = AT 3, 160 1,388 36. 9% 2,312 63. 1%
361 |45 HEHT 1, 740 143 42. 7% 997 57. 3%
362 | & FFHT 606 101 16. 7% 505 83. 3%
363| iRt 491 107 21. 8% 384 18. 2%
365 |/NEEEFHT 3, 960 1,534 43. 1% 2,026 56. 9%
369 REERH 919 464 50. 5% 455 49. 5%
381X EHT 2,313 1,138 49. 2% 1,175 50. 8%
383 |+ HT 4,790 2,298 48. 0% 2,492 52. 0%
385|_E B HT 8, 33/ 2,612 32. 0% 5, 669 68. 0%
408 | & FEHT 9,710 3, 490 35. 7% 6, 280 64. 3%
442 = {CHT 3, 029 1,929 63. 7% 1,100 36. 3%
464|4Z FHT 4, 500 2,315 52. 8% 2,125 417. 2%
465 | ¥ (X HT 3, 948 2, 135 69. 3% 1,213 30. 7%

501, 876 212,900 54. 4% 228,976 45. 6%




